               Chem 2061 – Fall 2008 – Quiz #4        Name ___________________________

1. (2 pts)  Draw the keto form of the following enol tautomer.
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2.  (7 pts)  Give the step-wise mechanism for the following reaction and explain why a mixture of the E and Z isomers is formed.


[image: image2.wmf]C

H

3

C

C

C

H

3

Cl

C

H

3

C

H

3

H

C

H

3

Cl

C

H

3

H

1 equiv.

   HCl

+  


3.  (6 pts)  Draw the products formed when 1-pentyne is treated with:
a)  H2O, H2SO4, HgSO4
b) NaNH2 followed by CH​3CH2Br

4. (2 pts)  How many 1H-NMR signals (peak clusters) will the following compound exhibit?
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5. (2 pts)  Which of the indicated protons absorbs further downfield (higher ppm)?
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6. (4 pts)  Into how many peaks will the 1H-NMR signal for each of the indicated protons be split?
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7.  (1 pt)  The chemical shift of the hydrogen in chloroform is 7.27 when determined on a 60 MHz instrument. What is the chemical shift of this hydrogen on a 600 MHz instrument?

             a) 7.27  
          b) 0.727                 c) 72.7                    d) 727

 

8. (1 pt) True or False   In 13C-NMR the area of a peak tells you exactly how many equivalent carbons are represented by that peak.  
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